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Rechenkreisel, Blatt 8
Aufgaben zur Multiplikation bis 1000

Aufgabe 1

2
1

29
14

Innenprodukt:

2
6

12
3

Innenprodukt:

5
1

14
6

Innenprodukt:

Aufgabe 2

1
22

8

44

Innenprodukt:

8

2
3

18

Innenprodukt:

6
14

112

6

Innenprodukt:

Aufgabe 3

93

144

Innenprodukt: 864

5
40

9624

Innenprodukt:

31

30

Innenprodukt: 540
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Lösung: Rechenkreisel, Blatt 8
Aufgaben zur Multiplikation bis 1000

Aufgabe 1

+

2
1

29
14

2

29406

28

Innenprodukt: 812

+

2
6

12
3

12

7236

6

Innenprodukt: 432

+

5
1

14
6

5

1484

30

Innenprodukt: 420

Aufgabe 2

+

2
8

1
22

16

822

44

Innenprodukt: 352

+

8
9

2
3

72

186

24

Innenprodukt: 432

+

6
14

8
1

84

1128

6

Innenprodukt: 672

Aufgabe 3

+

2
9

16
3

18

14448

6

Innenprodukt: 864

+

5
8

12
2

40

9624

10

Innenprodukt: 960

+

30
3

6
1

90

186

30

Innenprodukt: 540
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